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_ ?2) L, and L, are parallel. Find the length of the segment PQ.
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3) L, is perpendicular to L. Find the coordinates of point C,
which divides the segment BD into a ratio of 3: 1.
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perpendicular sides AB and AC crossing at vertex

A(—6,—6). Given that the slope of 4B is %, find the B (O .-&)

4) Aright-angled triangle AABC is formed, with (’ !0 | D ) T
D

coordinates of D, the midpoint of BC.
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5) Amanda lives at A(20,40) and Vishal at V(60, 88). They

meet_halfway, at point T, and walk to school, at point
S5(30,10) together. How far do they walk from point T?
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